Name

D Find the value of x + 4 if x = 12,

A. 12 .

B. 8 2 +4 =16

© 16

D. 10

E.  -notpossible .

2) When x = 3 and y = 5, by how much does the value of 3x* —2y exceed the value of
2x%—3y9 : o "

oo 2(2) - 2(5) N
® 2F Tle = I B - =
C. 16 = o £ '

D. 20 2(D - 2(3)

BE. 50 Ly — 1S = 2

3) Solve for x if.5x+'8 = 16.

A 32 -& -3

B. 8 —

C. 48 sx=38

O 16 5 5

E. 2 ¥=8& = LG

=

4) Solve for x if 4(x +4) -8 = 16.

A, -2 , ty &

2 4(%*"—%\} = 24

C. 8 , 5
D5 4 .

E- 1 AEH = ‘ _

| “y -x . %72

5) What is the slope of the line that goes through the points (6, 3) and (5, -2)7

A. 511 : Xy D ¥5> D>
‘ -0 : :

B. 1 D270 - 2 -3 -5 |
> s | Y5 X - - T, =<

D. 15 L -l C

E. -5

6) The line y = -4x + 2

A. Slopes downward and intersects the x-axis at 2

B. Has no slope and intersects both axis at the origin

C. Slopes upward and intersects the y-axis at 2

Slopes downward and intersects the y-axis at 2
E. Slopes upward and intersects the x-axis at 2



7) Bxpand (x + 3) - 5)

X >
A XFH2x=15 ¢ T 2| 4 . 2 .
9 2“2.75'—-15 % XI . 9‘% }( "’Qﬁ "ES
C. x*—2x+15 -5 || TS
D. Po2x-2 .
E. x*—2x+2
. 8) Factor x*+6x—27. | % ' //’] |
B &xTHE-3) E— — {X—f”\)[‘ﬁ‘g\)
B. (x+2)(x+3) A S N 2 %
C. - (x-9)(x-3)
D. x(x+6)-27 - -3y | -0
E.  x*+32x-9) 2 oy I-d

9) What mathematical expression fits the folléwing:
A rental car company charges a rental fee of $20 per day and $0.60 a mile.

A.

B.
C.
E.

$20 + $0.6

$20 + $0.6m
$20d + $0.6
$20d + $0.6m -
($20d) ($0.6)

O Lom + DO&L

10) If £ (x) = 3x* —5x+12, find £ (4)

A
B.
C -
D.

..4 f(ig) = 5(%)3 *5{‘)‘1} +

~ .
136 . , T
_ 4y - ae 41n = Ae
4x_
40 .

11) A car avefages_27 miles per gallon. If gas costs $4.04 per gallon, E_ow much would
the gas would cost for this car to travel 2727 miles?

A
B.
C.
@
E.

$44.44

$109.08 D223 itz e Hallon> &4 S
$408.04 < Fpaitoe - b HoF . o4
$444.40

> X

12) Sales for a business Wefe 3 million dollars more the second year thén the first, and
sales for the third year were double the sales for the second year. If sales for the third

m o 0 ()

year were 38 million dollars; what were sales, in million of dollars, for the first year?

16 _ .
175 Y D% + S
20.5 | -

22 - ) =

35

l}ﬁ-l‘bs—c@% = z&’k %;%g%‘ B

— - EBW%ENA
Q&Mr'mb '

@ 3{0/‘&'&”;"’5>




